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10* Biology
Objective Part Nam(l;irst Half-Book Ch#10-13 (fﬁ/" >
Marks: 12 Time: 15 Minutes Roll l\iumber: 3201 5ehy 12: #F
MCQs PART
DIGIGIe) PWEeOD |7l ®B®ODO |10 ®B®OD (13| @EBOD
DIGIGIe) AEeOD (8| ®WEOO 1| ®B®OD (14| ABOD
AHBOD AEeOD |9 WBOD |12 ABOD (15| WBOD

/L@}QLL:@/’D}WJW 2:..,1:2:/4; & U~ u:}l;z‘&:: 'd.l/c‘./.dlr‘/; {,QK@I:?_ujz%;D/)lC.B ‘Awglzkﬁjlgﬁdlfﬁ I/J
" <y
K ss9? Ja.li..,lﬁu;( PRy Vg J i/ 4:/ ..‘.:KLL/ {,:( u;fbukia.dgl_é)
D C B A Questions /| <Ul» Y-
0, | Co,uF | L s | CO,uf e S SFIES Al LS LS
O,1In CO, in 0 i; blood CO, in The primary chemical stimulus for breathing is 1
muscles muscles ’ blood the concentration of:
FEL | I ﬁ/._g.u( b i BZWF Lok |,
Costal Intercostal | Cardiac Smooth The rib muscles are called:
Muscles Muscles Muscles Muscles '
12 11 10 9 Wetrlune ol | g
The nung@ pairs of ribs in human is:
S Q> ~ ot St ny
s dgjx:d" J ' /3;,.) y Y S | -(LKJLU?J}L:%@J /:J;‘.J:lg)j )
Renal o ube between kidney and urinary bladder
Nephron Urethra Ureter <\ ¢/
Tubule /) hie:
>, ck ¥ u@ SN~ :‘Lt'/ @Jl&b{.’b/j:/ 5
Resins Mucilage Latex Rubber | The rubber plant excretes:
0.75 g/l L.17 g/l 1.87 2.3 gl The amount of urea in normal chemical | ©
N composition of urine is:
. I KAV ;o
Y0l // v =T P b d_me SIS /~.L-" 1972E 1L
Myelin AT I Y — Axoﬁns Process that carry nerve impulses away from 7
Sheath yuap the cell body are called:
3036 :.5'4»[.’ 2ol J (7;:.’)0,»’ Y 4 J)/ .-a?l/c):( KE/L:
& e | bR Z g
Cerebellam | Cerebrum Medulla Pons The part of the brain responsible for muscle
Oblongata movement, interpretation of the senses and the
memory is the:
.Lpf l /:(/ ‘,&5, bf"“./ :q_rua’ U;rdf u.‘.’/ /Lu’fi' 9
Cornea Sclera Pupil Retina The round hole in centre of iris is called:
AL S ‘s i Lirg bt FEL g,
Vertebral Shoulder 2 All these are the parts of axial skeleton of 10
. Sternum Ribs
Column Girdle humans except:
Ju;%g Jf/b G;JKJ"; JJ) :%VI@FG?HKJ[.{A 11
Lungs Brain cpol :; Heart Vertebral column protects the:
126 54 80 33 A FSUGRUA I | |
The number of bones in both hands is:
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10" Biology
Subjec.tive Part Name:First Half-Book Ch#10-13 J@, >
Marks: 48 Time: 1:45 Hours Roll Number- 551 :45:5s 48:/:}‘)(

(Part—1 J3l4aa )
10 Write short answers to any FIVE parts. -J_«.,yz/‘? L;i‘ztégaﬂf
Differentiate between breathing and cellular respiration. e AV UE PN e (i)
Describe the structure of trachea. i FesLdls (i)
Differentiate between acute bronchitis and chronic bronchitis. _56 I;J}u.‘:u:"’lﬁ‘u,uﬁ);:l u’i'lﬁ‘u:..‘.w:g (iii)
What is double pneumonia? Write its causes. _“éuge,gfu’l?ﬁ:.g s (i)
What is meant by passive smoking? How is it harmful? PRI P14 y e ol pfe Brrk (V)
How do the gaseous exchange occur in young stems and leaves? ?“4.&;«:4/,1;(;{‘); Sur L /J;g’ »J%  (vi)
Differentiate between transpiration and guttation. -ﬁ&)uﬁ&lecﬂ/’yl} (vii)
What is the difference between resins and gums? S O/ U /f »2z,  (viii)
10 Write short answers to any FIVE parts. _é::.«glﬁ/’? L;l‘}:lé&;éi/
What are succulent organs? Give an example. _;,Ja.mz_ﬂgyﬁrqﬁ (i)
Where are stomata found? Give their function. -Q’J” l{wl?uﬁé’_bé_l.ubﬂ:r# (ii)
How Kidneys performs when there is excess water in body

fluids? sl S s Simlina Qg hd- (i)

What is meant by haemodialysis? Q@ Cesl il Pl (iv)
Identify the two types of coordination in living orgamsms Q _igﬁ,clf’J'J rLJI»J SESLTY, A" (V)

/\édbd/d/(.d)éu)d})f}(yjﬂLf&dul)(J)/ (vi)

Differentiate between the modes of nervous and ¢h 1cal coordination.

Define nerve impulse. @ EFSU s (vid)
Define nerve. Name its types. R 063) -ﬁrbiru’u}/m_éﬁ_y /7 J:} (viil)
10 Write short answers to any @A@arts. -gﬁglﬁﬁ L;IZIQLJI 4
What is meninges? Give its @ _a‘frs/m?‘gg A (i)
What is vitreous humour? Sl rauss  (iD)
Differentiate between endoskeleton and exoskeleton. ..éugd}uﬁ J‘ZL} ,Q,,,J«;..w sdd  (iii)
Describe the structure of bone. ..é/ }' =30 i (iv)
Define osteocytes. ES PSS L (V)
Differentiate between flexion and extension. _.55 uu/u.‘.'cr:"'fwlu’? (vi)
Write the causes and symptoms of rheumatoid arthritis. ot s S ZT Y (Vi)
Differentiate between ball-and-socket joints and hinge joints. -éJ}df/l_eéuluylﬁJ iy (viii)

~U3/09£J‘fﬁ-é4;a§l££».::.«Ulr»c:.éf (@ 934aa
Part — II, Attempt any TWO questions. Each question carries 09 marks.

04 S b IS S e LS UPEIE (L) 5
How does the tobacco smoke damage the respiratory system?

05 Explain the peripheral nervous system. ..é_wu-;J ("‘/ vodis Q)

04 Explain the structure of nephron. -gg’:ug&b«fw}f ) -6

05 Define joint. Explain its types. -g:”_«-,ou,J LI Jm_é{._g Y Sasiz ()

04 Write a note on pancreas. “ELF ..*.J,g;g/% D 7

05 Explain the homeostasis in plants. _“ébwu:u( J’f Lu‘{/ wnsuny (&)
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10t Biology
. . 2" Half-Book Ch#14-18 o ab
Objective Part Name: )
Marks: 12 Time: 15 Minutes i ool Be o A
Roll Number: 2150 12:4F
MCQs PART
1] ®B®C0D |4 ®B®OD |7| ®B®O0O |10 ®®OO |13 ®B®OD
2| A®O0DO |5| ®WEOD (8| ®PBOD 1| ®BOD (14| ®B®OO
3| nE@OD |6 ®WBOD |9 WBEOD |12 WEOD |15 ®B®OD
/."L@}QLL:(»/’IJ.’EWJW 2:..,1:2:/4; & U~ u:}l;z‘&:: 'd.(/c‘_/.dlr‘/; 4QKQI£..U2£§.;D/3IC.B ‘Awglzkﬁjlgﬁdlfﬁ I/J
" ‘Ul
K ss9? Ja.li..,lﬁu;( PRy Vg J i/ 4:/ ..‘.:KLL/ {,:( u;fbukia.dgl_é)
D C B A Questions | = /?'/:}
3 AR LI | S 28 A, Ky Se_Qnizit IS pr s EK e e S
V= Secondary Primary e Which of these cells has haploid number of 1
All of these Spermatogonium
Spermatocyte Spermatocyte chromosomes?
g:r;ﬁ'." /*-:)Ju fu( /L I Z_/ u‘yb/?d/ )’“JJ}J/JJ' 2
em : ;
Tubers Rhizomes Corms Bulbs Ginger reproduce by:
7 & .
& Z o ( ¢ o S5 o :o‘ j
v > 7 ) o et fns.éwi,/,flu*iﬂaf r:lfj)'lgl»:-‘}( 3
; ic ?@ma is not able to reproduce in
Dog Monkey Rabbit Cat sung o nths?
. OO gt AL LS e G
S S ey B o @g\, it rrusiiin vvibainsdd IF
Genetics Ecolo Phvsiolo Pharma @& "The branch of biology in which we study
Y y sy N inheritance is called:
é@ 7 ngwﬂl/u:){.’z&}’ufat;%.ladif
27,000 26,000 29,000 @ 8,000 Mendel used pea plants in his S
(\ixo v ;
AN experiments.
N\ Y < Z .
i ; 7 I 20 Bt SR e 2 st § 52
. i : 4= In artificial selection, the bred animals 6
Varieties Likens tations Breeds " RANRK [T o LIE DERG SURMAls are
known as:
L2 311" L J ,:ﬁ :q_d@-‘f U U s -
Leech | Plasmodium | Amoeba Ascaris Which is an example of ectoparasites?
;DJ"’G;’(Q)G/”#DIBIJ.}'—QU:U;’(:”JU/J'U{
‘f"‘}i’-’é (s r’*?z-” ( * 24 The type of symbiosis in which :4‘-_311[ cq.l:'xul..a‘ﬁ 8
Predation | Parasitism | Mutualism | Commensalism | . partner is benefited while the other is
neither benefited nor harmed is called:
:f J J?J&&é)).z:k /fégﬁo"r’ I(}Ui
41978 J4+1970 J4+1990 J~+2002 Human insulin was prepared by bacteria for | ?
the first time in:
l;“’"“‘("f’ LaJSFe JI 4 et i1 Bk 2 10
Zl;?:llc Nitric Acid Ethanol Glycerol Which is used in electroplating?
— J&’ - /g L J{ o fosl :_ur;éﬁ/ 0 ?‘LJUJJQ-"LJ uézy‘l»dhﬁ_/ FJ 373 11
: : ; Leaves of .. :
Fungi Liver of fish Opium Morphine is derived from:
Foxglove
11940 11945 11950 ,1960 Sir Alexander Flemming :l.~b| S, ..ﬁ::”zy;ﬂ?l 7| 19
was awarded the Nobel Prize in:
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10t Biology
Subjec.tive Part Name:2”d Half-Book Ch#14-18 Jlf’il o
Marks: 48 Time: 1:45 Hours Roll Number- 551 :45: 5, 48:/:}‘)(
(Part-—1 Jilazaa )
10  Write short answers to any FIVE parts. _é/@yzﬁ? L;l?:lé&;é/ -2
What is meant by binary fission? Give an example. S et L 4-_‘}‘ ' (i)
Describe the process of spore formation in rhizopus. _éugdf 1+ Py 1) (ii)
Write two advantages of vegetative propagation. -J/Ii»&;&fw ﬁif(f', (i)
What is semen? L Ly (iv)
Differentiate between epicotyl and hypocotyl. -JJ}u:J'eL,fp,uJe/ $ (V)
What are homologous chromosomes? Sl sl )-rm/ uf dvye (Vi)
Differentiate between transcription and translation. ..g_:ugu"}gﬂfu I}/)lﬁ)ﬁl/’ (vii)
What is meant by locus? Sl i =Y (viii)
10 Write short answers to any FIVE parts. ..g.:v[.!ﬁ /'? L;IZlég‘-_J/ 3
Define genotype and phenotype. _za_"...,ag j’.Jgft‘;?m..;ﬁB}.‘! (i)
Differentiate between continuous and discontinuous variations. _é’{ugdj‘_).‘:@l y J’V /j})’Jy (ii)
What are the different levels of ecological organization? S e 2l L RALT Sk (i)
Define species. Q@ Sl 2e (i)
Define consumers. Give an example. O© - -é:dl:‘w._.g?‘g;l i /;'_7"/ (v)

BB LSl gk (Vi)

Write the disadvantages of excessive denitriﬁcaﬁon.c@gj\
’ L A S (vid)

Name two important greenhouse gases.

Define glycolysis and name its one product. @ -ﬂ/rtb’..*ﬁ:,g...{ufu‘mlé._y /JJ /Uf’ §  (viii)
O x ; p
10  Write short answers to any FIVE. 9 -aga-,gm/‘? L;I‘}.’lég;di/ 4

its two types. _aﬂ»cérm»d’w?yu oy L‘f’& y (i)

What is meant by fermentation?

Write two uses of fermentati _ZJ.::.JUWI»LF S (i)
Write two achievements of genetic engineering. _é'uWLpK»L.f }'-:’ (Cs2 (i)
What is meant by single cell protein? el . ;c;f,/?bk‘ Jf’ (iv)
What is the difference between drug and pharmaceutical drug? ?+J)g u:u,;‘ﬁ,:—'us,,n_ﬁs (V)
Differentiate between antibiotics and disinfectants. _“égg&' Y19 ‘_,.zzs,aujmuf ¥ l,‘f*-l (vi)

?‘Ldlﬁggcjl?u}aﬂw lp:_d.){jgf/ O 5;63!@‘?:»’ (vii)
From which plant are morphine and codeine derived? Write their harmful effect.
Differentiate between antigens and antibodies. -gJ/'szg@w /-"Jf-l (viil)

ALy pE  f ezl etrne (S pbgraa
Part — II, Attempt any TWO questions. Each question carries 09 marks.

04 Explain the budding process with examples. el §Sf L fhesalusds () 5
05 Describe Mendel’s law of segregation. _“éu,l{.vﬁf S T8 ()
04 Describe the structure of chromatin. -éugaév&u”b/ ) -6
05 Explain the carbon cycle. ..gi:.ww:J f Lok (D)
04 Write a note on antibiotic resistance. _£¢]4Ml PO SEAG () T
05 S SCEIL A\ S 2 L et i 1Py FEGIE A (L)

Define biotechnology. Describe its role in the field of food and agriculture.
Please visit for more data at: www.pakcity.org






